SB-4L-2

YyepTex Homep Ne uspenus Onucanue WTYK
10 23142 OMOPA [NAA KPbILIKM 1
20 23171 BCTABKA A1 KYNAYKOBOIO BANA 1
30 23157 KYNAYKOBBIV BAT 1
40 23166 MPYXVHHASA MNACTUHA 1

Lo 30 20 10
0 390
60
10,71,72,80
150,160,170
110
90,91
100
120
130 (B) 140
190

220,221222,273

230
260,241

250

"’i’/é!% B 620

A LOCTITE NO. 242
B: SINICONF RTV 108

HALLDE 3ANACHbIE YACTH




SB-4L-2

yepTex Homep

Ne nspenus

Onucanue

WTYK

50 14339 BWHT, MRX-H M5X12 A2 70 6

60 14085 CTOIMOPHASA LWAMBA, FBB 5,1 A2 6

70 15565 Mwukposbikntodatens XGT42C-86-S2021 1

71 23227 n3onAunA onAa NeEPEKNOYATENA 1

72 14613 BWHT, RTK ST2.9X16 A2 70 2

80 14062 LUAMBA, BRB 5,3X15X1,2 2

90 24346 OnekTpoHHas nnata SB-4 230 1 50 1

91 23180 OnekTpoHHas nnata 120V,SB-4 1
100 23314 SALLMTHAA NAHESNb, AM 1
110 23313 KPOHLUTEMH, MUKPOBBIKMIOYATEb, 120-240 B 1
120 15527 KPOHLUTEMH ONA NNATbI SNEKTPOHMKMN, AVC BS-9A 4
130 23145 BEHTUNALUMOHHAA PELLETKA 1
140 14223 BWHT, MKFS M4X 10 A2 70 2
150 14851 BWHT, MRT-TT M4X10 A2 DIN 7500 5
160 14084 CTOMOPHASA LIAMBA, FBB 4.1 A2 4
170 14004 FAMKA, MBM M4 A2 70 1
190 15555 PUNKCATOP KABENA, 1397 SR-17-2 1
220 15151 WHyp nutanns CB 1® gns SB-4 1
221 23238 KABENb MUTAHUA 240V AUS 1
222 23239 KABENb MUTAHNA 240V UK 1
223 23237 KABENb MUTAHNA 100-120V 1
230 23158 KOPIMYC MALUVHbI 1
240 15727 OBWIATENb, 220-240 1 50/60 1
241 23327 OBUIATENb, 110-120V 50/60 1
250 23315 MNACTUHA OBUTATENA 1
270 15726 PEMEHb, MEGARUBBER PV J 406 1
280 14424 BWHT, LSKS M4X12 A2 70 1
290 23312 SALLMTHAA NAHEb 1
291 23325 LYMONOITOTUTENNb, 8 mm 1
300 15357 3AXKNM KABENA 2
310 23197 NOTEHLUMOMETP 1
31 23184 n3onAauna onAa NOTEHLUNOMETPA 1
320 10507 HOXKA, PEBMHOBASA, BVO 22H10 4
330 40786 BWHT, ANA PE3VNHOBOW HOXKW 4
340 23148 PYYKA, NHOWKATOP 1
350 23144 OlMOPA AJ1A KYBLUMHA 4
360 14753 BWHT, RT-PTF 5.0X20FZ 4
380 23141 KPbILLKA 1
390 23167 NO3VPYIOLINIA 3ATPY3UMK 1
400 23308 PEXYLLUWI BNOK B CEOPE 1
410 14028 TAAKA, MHM M8 1
430 23268 BEPXHUIN HOX, MO03 1
450 23269 HDKHUIA HOX, MOO03 1
470 10539 YMANOTHUTENBHOE KOMbLO, 21.1X1.6 1
510 23231 FAAKA, M22X1 1
520 23161 LWAMBA NS COEAMHUTENBHOW BTYNKU 1
530 23173 COEONHUTENBHAA BTYINKA, MALWMHA 1
540 14078 LLIAMBA 1
550 14501 BUHT, M6S M4X8 A2 70 1
560 23150 PACMNOPHOE KOJbLO, L=4 1
570 23326 BAJ1 HOXXA B CBEOPE 1
610 23322 KHOMMKA ¢oYHKLIMW NYNbCALIMX B CBOPE 1
620 23253 COEOVHUTENBHAA BTYINKA B CBOPE M6, KYBLUVH 1
630 23248 SALLNTA HOXA 1
640 24138 MIACTUHYATAA MPYXXUHA ONA PYYKU 1

HALLDE 3ANACHbIE YACTH




SB-4L-1

LO 30 20 10
50 390
60
70.71.72.80
150,160,170
10
90 S
100 N
120
130 (B) 140
190
220221222 {
230 |
24,0 g@@
250 AL
T
=
50 360
b0 310 32
300 317 330 640
530
/* S50(A)
54,0
L 1,00 0
7 560
[NEEN \l} 7}%\
: H }»570
| 2§
SN 50160
|
n 620

A: LOCTITE NO. 247
B: SIFICONF RTV 108

HALLDE 3ANACHbIE YACTH




SB-4L-1

yepTex Homep

Ne nspenus

Onucanue

WTYK

10 23142 OlMOPA AJ14 KPbILLIKK 1

20 23171 BCTABKA ON1A KYNTAHKOBOI'O BAJIA 1

30 23157 KYNAYKOBGIN BAIN 1

40 23166 NPY>XNHHAA NITACTUHA 1

50 14339 BWHT, MRX-H M5X12 A2 70 6

60 14085 CTOINOPHASA LIAMBA, FBB 5,1 A2 6

70 15565 Mwukposbiknodatens XGT42C-86-S2021 1

71 23227 n3onAaunA ona NEPEKMOYATENA 1

72 14613 BWHT, RTK ST2.9X16 A2 70 2

80 14062 LUAMBA, BRB 5,3X15X1,2 2

90 24346 OnekTpoHHas nnata SB-4 230 1 50 1
100 23314 SALNTHAA NAHENb, AM 1
110 23313 KPOHLUTEMH, MUKPOBbIKMIOYATEb, 120-240 B 1
120 15527 KPOHLUTEMH AN NNATbl SNEKTPOHMKUN, AVC BS-9A 4
130 23145 BEHTUNALMOHHAA PELLETKA 1
140 14223 BWHT, MKFS M4X 10 A2 70 2
150 14851 BWHT, MRT-TT M4X10 A2 DIN 7500 5
160 14084 CTOIMNOPHASA LIAMBA, FBB 4.1 A2 4
170 14004 FAAKA, M6M M4 A2 70 1
190 15555 OUKCATOP KABENA, 1397 SR-17-2 1
220 15151 WHyp nutanus CB 10 ans SB-4 1
221 23238 KABENb MUTAHUA 240V AUS 1
222 23239 KABE/b MUTAHNA 240V UK 1
230 23158 KOPMYC MALUVHbI 1
240 15709 [Osuratens 220-240 1 50/60 1
250 23315 MNACTVUHA OBUTATENA 1
270 10551 3ybuaTbin pemeHb 5SMR 0400 12 1
280 14424 BWHT, LSKS M4X12 A2 70 1
290 23312 SALLMTHAA NAHENb 1
300 15357 3AXKNM KABENA 2
310 23197 NOTEHLUMOMETP 1
311 23184 n3onAauna onAa NOTEHUNOMETPA 1
320 10507 HOXKA, PESVIHOBAHA, BVO 22H10 4
330 40786 BWHT, ANA PE3MHOBOM HOXKU 4
340 23148 PYYKA, NHONKATOP 1
350 23144 OMOPA ONA KYBLUMHA 4
360 14753 BWHT, RT-PTF 5.0X20FZ 4
380 23141 KPbILLKA 1
390 23167 JO3VPYIOLMIA 3ATPY3UMK 1
400 23308 PEXYLUWIA BNOK B CEOPE 1
410 14028 TAVKA, MHM M8 1
430 23268 BEPXHUIN HOX, MO03 1
450 23269 HVDKHWM HOX, MO03 1
470 10539 YMANOTHUTENBHOE KOJNbLO, 21.1X1.6 1
510 23231 FAAKA, M22X1 1
520 23161 LUAMBA NSl COEAMHUTENBHOW BTYNKU 1
530 23173 COEONHUTENBHAA BTYNKA, MALWWHA 1
540 14078 LUAMBA 1
550 14501 BWHT, M6S M4X8 A2 70 1
560 23150 PACMNOPHOE KOMNbLO, L=4 1
570 23138 BAN B CBOPE 1
610 23322 KHOMKA oYHKUWM NYNbCALMN B CBEOPE 1
620 23253 COEOVHUTENBHAA BTYINKA B CEOPE M6, KYBLUWH 1
630 23248 SALNTA HOXKA 1
640 24138 MNACTUHYATAA MPY>KNHA ONA PYYKUA 1

HALLDE 3ANACHbIE YACTH




